San Antonio Water System

Solicitation Vendor Price List

Run Date 09/16/2021

Prepared By: S. Manzello Solicitation No: CO-00415

Job #: 20-7003 SAN ANTONIO WATER SYSTEM

PO Box:2994

San Antonio, Texas, 78298-2449

TABULATION OF BIDS

Proposal: Overlook Parkway Water Main Extension Project

Price List

	Item No	Item Description	Unit	CO-00415 - 1_PRONTO SANDBLASTING & COATING			CO-00415 - 2_HARPER BROTHERS CONST LLC			CO-00415 - 3_QRO MEX CONSTRUCTIONS INC			CO-00 CONSTRU
Line No				Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price
1	103.1	Remove Concrete Curb	LF	\$1.00	2,640	\$2,640.00	\$4.00	2,640	\$10,560.00	\$6.00	2,640	\$15,840.00	\$2.00
2	103.3	Remove Concrete Sidewalks and Driveways	SF	\$2.00	9,617	\$19,234.00	\$2.00	9,617	\$19,234.00	\$6.00	9,617	\$57,702.00	\$1.50
3	103.4	Remove Miscellaneous Concrete	SF	\$5.00	378	\$1,890.00	\$5.00	378	\$1,890.00	\$6.00	378	\$2,268.00	\$1.50
4	203.1	Tack Coat	GAL	\$10.00	673	\$6,730.00	\$3.25	673	\$2,187.25	\$12.00	673	\$8,076.00	\$3.25
5	205.2	Hot Mix Asphaltic Pavement - Type B (10" Pavement Thickness)	SY	\$75.00	1,798	\$134,850.00	\$65.00	1,798	\$116,870.00	\$84.00	1,798	\$151,032.00	\$60.00
6	205.4	Hot Mix Asphaltic Pavement - Type D (2" Pavement Thickness)	SY	\$21.00	6,679	\$140,259.00	\$12.00	6,679	\$80,148.00	\$24.00	6,679	\$160,296.00	\$9.35
7	208.1	Milling of Asphaltic Concrete Pavement (Salvaging, Hauling, and Stockpiling Reclaimable Asphaltic Pavement) (2" Pavement Thickness)	SY	\$10.00	6,679	\$66,790.00	\$3.00	6,679	\$20,037.00	\$14.00	6,679	\$93,506.00	\$4.95
8	413	Flowable Fill	CY	\$180.00	2,093	\$376,740.00	\$155.00	2,093	\$324,415.00	\$175.00	2,093	\$366,275.00	\$100.00
9	500.1	Concrete Curb	LF	\$20.00	2,640	\$52,800.00	\$18.00	2,640	\$47,520.00	\$45.00	2,640	\$118,800.00	\$23.00
10	502.1	Concrete Sidewalk	SY	\$78.00	998	\$77,844.00	\$61.00	998	\$60,878.00	\$120.00	998	\$119,760.00	\$76.50
11	503.1	Concrete Driveway	SY	\$90.00	74	\$6,660.00	\$110.00	74	\$8,140.00	\$120.00	74	\$8,880.00	\$67.57
12	505.1	Concrete Rip-rap	SY	\$150.00	42	\$6,300.00	\$110.00	42	\$4,620.00	\$120.00	42	\$5,040.00	\$150.00
13	507.6	Remove and Replace Residential Wooden Privacy Fence (6 Ft High)	LF	\$100.00	30	\$3,000.00	\$50.00	30	\$1,500.00	\$85.00	30	\$2,550.00	\$75.00
14	520	Revegetation	LS	\$5,000.00	1	\$5,000.00	\$75,000.00	1	\$75,000.00	\$45,000.00	1	\$45,000.00	\$5,500.00
15	530	Barricade, Signs, and Traffic Handling	LS	\$297,000.00	1	\$297,000.00	\$290,000.00	1	\$290,000.00	\$68,000.00	1	\$68,000.00	\$135,400.00
16	DMS-4200	Pavement Markers (Rellectorized)	EA	\$20.00	100	\$2,000.00	\$9.00	100	\$900.00	\$8.00	100	\$800.00	\$6.00
17		Hot Applied Themoplaslic Pavement Marklngs 4" White Lane Line	LF	\$2.00	1,194	\$2,388.00	\$2.00	1,194	\$2,388.00	\$6.00	1,194	\$7,164.00	\$1.35
18		Hot Applied Thermoplastic Pavement Markings Word 'ONLY"	EA	\$300.00	3	\$900.00	\$350.00	3	\$1,050.00	\$400.00	3	\$1,200.00	\$200.00
19	DMS-8220	Hot Applied Themoplastic Pavement Markings Right Arrow	EA	\$250.00	3	\$750.00	\$350.00	3	\$1,050.00	\$300.00	3	\$900.00	\$125.00
20	PM(4)-20	Crosswalk Pavement Markings (Complete) (Littla Brook & US 2B1)	LS	\$1,500.00	1	\$1,500.00	\$1,500.00	1	\$1,500.00	\$1,400.00	1	\$1,400.00	\$1,000.00
21	540	SWPPP	LS	\$10,000.00	1	\$10,000.00	\$70,000.00	1	\$70,000.00	\$10,000.00	1	\$10,000.00	\$19,725.00
22	550	Trench Excavation Protection	LF	\$1.00	3,813	\$3,813.00	\$2.00	3,813	\$7,626.00	\$4.00	3,813	\$15,252.00	\$0.01
23	801	Tree Preservation Plan	LS	\$3,000.00	1	\$3,000.00	\$27,000.00	1	\$27,000.00	\$44,000.00	1	\$44,000.00	\$2,000.00
24	814	24" D.I. Pipe (Pipe Class 250)	LF	\$240.00	3,065	\$735,600.00	\$325.00	3,065	\$996,125.00	\$282.00	3,065	\$864,330.00	\$509.26
25	814	16" D.I. Pipe (Pipe Class 250)	LF	\$180.00	677	\$121,860.00	\$225.00	677	\$152,325.00	\$148.00	677	\$100,196.00	\$441.61
26	814	12" D.I. Pipe (Pipe Class 250)	LF	\$170.00	40	\$6,800.00	\$195.00	40	\$7,800.00	\$121.00	40	\$4,840.00	\$280.00
27	814	8" D.I. Pipe (Pipe Class 250)	LF	\$150.00	31	\$4,650.00	\$175.00	31	\$5,425.00	\$108.00	31	\$3,348.00	\$259.00
28	828	8" Gate Valve, M.J.	EA	\$2,500.00	1	\$2,500.00	\$2,000.00	1	\$2,000.00	\$2,300.00	1	\$2,300.00	\$8,060.00

San Antonio Water System

Solicitation Vendor Price List

Run Date 09/16/2021

Prepared By: S. Manzello
Solicitation No: CO-00415

Job #: 20-7003 SAN ANTONIO WATER SYSTEM

PO Box:2994

San Antonio, Texas, 78298-2449

TABULATION OF BIDS

Proposal: Overlook Parkway Water Main Extension Project

Price List

		Item Description		CO-00415 - 1_PRONTO SANDBLASTING & COATING			CO-00415 - 2_HARPER BROTHERS CONST LLC			CO-00415 - 3_QRO MEX CONSTRUCTIONS INC			CO-00 CONSTRU
Line No	Item No		Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price
29	828	12" Gate Valve, M.J.	EA	\$3,500.00	2	\$7,000.00	\$3,800.00	2	\$7,600.00	\$3,200.00	2	\$6,400.00	\$9,146.00
30	828	16" Gate Valve, M.J.	EA	\$12,000.00	4	\$48,000.00	\$9,500.00	4	\$38,000.00	\$9,000.00	4	\$36,000.00	\$12,506.00
31	828	6" Valve Box, Complete	EA	\$300.00	14	\$4,200.00	\$500.00	14	\$7,000.00	\$1,900.00	14	\$26,600.00	\$500.00
32	830	24" Butterfly Valve, FLG.	EA	\$30,000.00	7	\$210,000.00	\$14,500.00	7	\$101,500.00	\$24,000.00	7	\$168,000.00	\$21,747.00
33	831	24" Cut-in Tee	EA	\$18,000.00	1	\$18,000.00	\$22,000.00	1	\$22,000.00	\$22,000.00	1	\$22,000.00	\$11,142.00
34	831	16" Cut-in Tee	EA	\$10,000.00	1	\$10,000.00	\$15,000.00	1	\$15,000.00	\$19,000.00	1	\$19,000.00	\$8,412.00
35	832	24"x16" Tapping Sleeve	EA	\$20,000.00	1	\$20,000.00	\$23,000.00	1	\$23,000.00	\$23,900.00	1	\$23,900.00	\$20,202.00
36	834	Std. Fire Hydrant Assembly	EA	\$6,000.00	5	\$30,000.00	\$6,500.00	5	\$32,500.00	\$7,800.00	5	\$39,000.00	\$5,535.00
37	836	Pipe Fittings, All Sizes and Types	TN	\$12,000.00	10	\$117,840.00	\$10,384.00	10	\$101,970.88	\$16,000.00	10	\$157,120.00	\$100.00
38	840	8" Water Tie-in	EA	\$3,600.00	2	\$7,200.00	\$5,500.00	2	\$11,000.00	\$6,700.00	2	\$13,400.00	\$6,261.00
39	840	12" Water Tie-in	EA	\$4,000.00	3	\$12,000.00	\$7,000.00	3	\$21,000.00	\$8,800.00	3	\$26,400.00	\$6,455.00
40	840	16" Water Tie-in	EA	\$6,000.00	3	\$18,000.00	\$8,000.00	3	\$24,000.00	\$12,000.00	3	\$36,000.00	\$18,845.00
41	841	Hydrostatic Testing	EA	\$2,400.00	6	\$14,400.00	\$2,500.00	6	\$15,000.00	\$24,500.00	6	\$147,000.00	\$6,250.00
42	844	2" Temporary Blow-Off Assembly	EA	\$1,500.00	6	\$9,000.00	\$1,700.00	6	\$10,200.00	\$2,900.00	6	\$17,400.00	\$1,644.00
43	844	4" Temporary Blow-Off Assembly	EA	\$15,000.00	1	\$15,000.00	\$12,000.00	1	\$12,000.00	\$17,000.00	1	\$17,000.00	\$5,768.00
44	846	2" Combination Air Release Valve Assembly	EA	\$15,000.00	2	\$30,000.00	\$30,000.00	2	\$60,000.00	\$13,900.00	2	\$27,800.00	\$3,836.00
45	856.2	16" Carrier Pipe (Open Cut)	LF	\$170.00	20	\$3,400.00	\$250.00	20	\$5,000.00	\$190.00	20	\$3,800.00	\$295.00
46	856.3	Casing or Liner 30"	LF	\$260.00	20	\$5,200.00	\$200.00	20	\$4,000.00	\$420.00	20	\$8,400.00	\$364.00
47	3100.0	12" Temporary Water Line, Including Fittings, Tie-Ins, and All Appurtenances	LF	\$150.00	813	\$121,950.00	\$185.00	813	\$150,405.00	\$166.00	813	\$134,958.00	\$116.42
48	SC-4	Backyard Landscaping Repair	LS	\$5,000.00	1	\$5,000.00	\$5,000.00	1	\$5,000.00	\$24,000.00	1	\$24,000.00	\$15,000.00
49	SC-4	CPS Pole Brace/Guide Wire Relocation	ALW	\$15,000.00	1	\$15,000.00	\$15,000.00	1	\$15,000.00	\$15,000.00	1	\$15,000.00	\$15,000.00
50	SS4/5A	Subsurface Sensitive Feature Protection (2,500 psi)	CY	\$230.00	100	\$23,000.00	\$160.00	100	\$16,000.00	\$90.00	100	\$9,000.00	\$100.00
51	SS4/5B	Subsurface Sensitive Feature Protection (Structural)	LF	\$100.00	15	\$1,500.00	\$1,700.00	15	\$25,500.00	\$340.00	15	\$5,100.00	\$675.00
52	SS 862	Abandon Existing Water Main (> 12-inch Diameter)	LF	\$12.00	1,870	\$22,440.00	\$20.00	1,870	\$37,400.00	\$32.00	1,870	\$59,840.00	\$22.00
53	100	Mobilization (Max 10% of Line Items 1-49)	LS	\$286,000.00	1	\$286,000.00	\$300,000.00	1	\$300,000.00	\$180,000.00	1	\$180,000.00	\$200,000.00
54	101	Preparation of ROW (Max 5% of Line Items 1-49)	LS	\$143,000.00	1	\$143,000.00	\$150,000.00	1	\$150,000.00	\$78,000.00	1	\$78,000.00	\$200,000.00
55	102.1	Intermediate Demobilization and Remobilization	EA	\$5,000.00	1	\$5,000.00	\$16,000.00	1	. ,	\$45,000.00	1	\$45,000.00	\$15,000.00
			Total			\$3,295,628.00			\$3,564,264.13			\$3,624,873.00	
Calendar Days To Complete : 330			As Read:			\$3,295,628.00			\$3,564,264.13			\$3,624,873.00	

415 - 4_S.J. LOUIS CTION OF TEXAS LTD.

Quantity	Total Amount
2,640	\$5,280.00
9,617	\$14,425.50
378	\$567.00
673	\$2,187.25
1,798	\$107,880.00
6,679	\$62,448.65
6,679	\$33,061.05
2,093	\$209,300.00
2,640	\$60,720.00
998	\$76,347.00
74	\$5,000.18
42	\$6,300.00
30	\$2,250.00
1	\$5,500.00
1	\$135,400.00
100	\$600.00
1,194	\$1,611.90
3	\$600.00
3	\$375.00
1	\$1,000.00
1	\$19,725.00
3,813	\$38.13
1	\$2,000.00
3,065	\$1,560,881.90
677	\$298,969.97
40	\$11,200.00
31	\$8,029.00
1	\$8,060.00

415 - 4_S.J. LOUIS CTION OF TEXAS LTD.

Quantity	Total Amount
2	\$18,292.00
4	\$50,024.00
14	\$7,000.00
7	\$152,229.00
1	\$11,142.00
1	\$8,412.00
1	\$20,202.00
5	\$27,675.00
10	\$982.00
2	\$12,522.00
3	\$19,365.00
3	\$56,535.00
6	\$37,500.00
6	\$9,864.00
1	\$5,768.00
2	\$7,672.00
20	\$5,900.00
20	\$7,280.00
813	\$94,649.46
1	\$15,000.00
1	\$15,000.00
100	\$10,000.00
15	\$10,125.00
1,870	\$41,140.00
1	\$200,000.00
1	\$200,000.00
1	\$15,000.00
	\$3,699,035.99
	\$3,699,035.99